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¢ HXXEFEWEEA
What’s the main idea of the passage?
What’s the main purpose of the passage?
Which of the following can best serve as the title-of the passage?
The passage is intended to tell us that
The passage is mainly about
¢ HXBEFEENEEA
What’s the main idea of the first paragraph?
The first/last paragraph tells us that
We can learn from the second paragraph that
From the last paragraph we can draw the conclusion that
@ HXERMENERA
We can conclude from the passage that
What conclusion can we draw from the last paragraph?
The best title for the passage might be
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@ According to 3% Wh-25BIEHA
According to the author, who/what/where/when/why/how. . . ?
According to the passage, who/what/where/when/why/how. .. ?
Which of the following is included in the discussion of. . .?
When did the accident actually happen?

@ True or False 28R H A
Which of the following is true/correct/false/NOT true about. . . ?
All of the following are (NOT) true/mentioned EXCEPT
It is true/NOT true that
Which of the following is NOT correct?

@ Mention or Comment K% HFEA
The author mentions all of the items listed below EXCEPT
What is mentioned/NOT mentioned about. . . ?

. The writer has mentioned all the following EXCEPT
In which paragraph(s) does the writer comment on. . .?
In the last paragraph the author recommends that
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The word “them” in line 5 refers to

“This” in Paragraph 2 refers to

The phrase “with the touch of a finger” in Paragraph 4 means .

The word “prediction” in the last paragraph could be replaced by which of the
following without changing the meaning of the sentence?

The word/phrase “. ..” most probably means
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The author of the passage implies that

This passage implies that

It can be inferred from the passage that
From the passage we can infer that
What can be inferred from the passage?
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What is the writer’s attitude towards. . .?

The author’s attitude towards. . . might be summarized as

Which of the following is the opinion/idea of the author?

Which of the following is NOT the author’s viewpoint?

The author suggests that

What is the tone/mood of the passage?
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Do you realize that every time you take a step, the bones in your hip are
subjected to forces between four and five times your body weight? When you are
running, this force is increased further still. What happens if through disease a
~ hip-joint ceases to be able to resist such forces? For many years hip-joints and
other body joints have been replaceable either partially or completely. It is after all
a simple ball and socket joint; it has certain loads imposed on it; it needs reliability
over a defined life; it must contain materials suitable for the working
environment. Any engineer will recognize these as characteristic of a typical
engineering problem, which doctors and engineers have worked together to solve,
in order to bring a fresh lease of life to people who would otherwise be disabled.

This typifies the way in which engineers work to help people and create a
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better quality of life. The fact that this country has the most efficient agricultural
industry in the world is another good example. Mechanical engineers have worked
with farmers and biologists to produce fertilizers, machinery and harvesting
systems. This team ef fort has now produced crops uniformly waist high or less
so that they are better suited to mechanical harvesting. Similar advances with
other crops have released people from hard and boring jobs for more creative
work, whilst machines harvest crops more efficiently with less waste. Providing
more food for the rapidly increasing population is yet another role for the

mechanical engineer.

1.  According to the passage, when would most weight be imposed on hip-joints?

A. When one is walking. B. When one is running.
C. When one is standing. D. When one is lying down.
2. Engineers regard the replacement of hip-joints as a(n) problem.
A. mechanical B. medical
C. health D. agricultural

3. According to the passage, how do engineers contribute to increasing efficiency
of the agricultural industry?
A. By working with farmers.
B. By working in teams.
C. By growing crops of the same height.
D. By making agricultural machinery.

"4, According to the context, “This team effort” in Paragraph Two refers

to
A. mechanical engineers B. doctors and engineers °
C. biologists, doctors and farmers D. farmers, biologists and engineers
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